# SOME RESULTS ON UNION OF TWO FUZZY GRAPHS 

Mr G. Sanjeevi* Dr. G. Marimuthu**<br>*Associate Professor,Department of Mathematics, Vivekananda College,Thiruvedakam west,Madurai.Dist. **Assistant Professor, Department of Mathematics, Madura College, Madurai.


#### Abstract

In this paper, we find the order, size and degree of a vertex in the union of two fuzzy graphs. Strong, complete, regular and connected nature of union of two fuzzy graphs have been studied.


Keywords: Fuzzy graphs, union of two fuzzy graphs, strong fuzzy graphs, complete fuzzy graph, regular fuzzy graph, connected complete and regular fuzzy graphs.

## 1. Introduction

Fuzzy graph was introduced say Rosen field in 1975. Fuzzy graphs can be used in traffic light problems, time table scheduling etc. The operators union, join, cartesian product and composition of two fuzzy graphs were defined by Mordeson and Peng [9]. Later, Nirmala and Vijaya [11] determined the degree of a vertex in new fuzzy graphs obtained from two fuzzy graphs using the operation cartesian, tensor, normal product and composition on two fuzzy graphs we find the order, size and degree of a vertex in the union of two fuzzy graphs. We have illustrated an example that the union of two strong fuzzy graphs need not be a strong fuzzy graph. We have proved that the necessary and the sufficient condition for the union of two complete fuzzy graphs to be a complete fuzzy graph.

## 2. Preliminaries

A fuzzy graph $G$ is a pair of function $(\sigma, \mu)$ where $\sigma$ is a fuzzy subset of a non-empty set $V$ and $\mu$ is a symmetric fuzzy relation on $\sigma$. The underlying crisp graph of $G$ : $(\sigma, \mu)$ is denoted by $G *(V, E)$ where $E \subseteq V \times V, G:(\sigma, \mu)$ is called connected fuzzy graph if for all $u, v \in V$ there exists at least one non zero path between $u$ and $v$. $G$ is called strong fuzzy graph if $\mu$ ( $u$, $\mathrm{v})=\sigma(\mathrm{u}) \wedge \sigma(\mathrm{v})$ for all $(\mathrm{u}, \mathrm{v}) \in \mathrm{E}$ and complete fuzzy graph of $\mu(\mathrm{u}, \mathrm{v})=\sigma(\mathrm{u}) \wedge \sigma(\mathrm{v}), \forall \mathrm{u}, \mathrm{v} \in \mathrm{V}$. The degree of a vertex is of $G:(\sigma, \mu)$ is defined as $d_{G}(u)=\sum_{u v \in E}(u v)$. The order of a fuzzy graph $G:(\sigma, \mu)$ is defined as $O(G)=\sum_{u \in V} \sigma(u)$. The size of fuzzy graph $G(\sigma, \mu)$ is defined as $q(G)=\sum_{u v \in E}(u, v)$.If $d_{G}(v)=k$, for all $v \in G$. $G$ is said to be a regular fuzzy graphs of degree ' $k$ ' or k-regular

## 3. Union of Two Fuzzy Graphs

Definition 3.1. Let $G_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$ be two fuzzy graphs with underlying crisp graphs $G_{1}^{*}:\left(\mathrm{V}_{1}, \mathrm{E}_{1}\right)$ and $G_{2}^{*}:\left(V_{2}, E_{2}\right)$ respectively. Let $V=V_{1} \cup V_{2}$ and let $E=\left\{u v / u, v \in V\right.$, $u v \in E$ or $u v \in E_{2}$ or $\left.u v \in E_{1} \cap E_{2}\right\}$ then the union of $G_{1}$ and $G_{2}$ denoted by $G_{1} \cup G_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ is defined by
$\left(\sigma_{1} \cup \sigma_{2}\right)(u)=\left\{\begin{array}{ccc}\sigma_{1}(u), & \text { if } & u \in V_{1}-V_{2} \\ \sigma_{2}(u), & \text { if } & u \in V_{2}-V_{1} \\ \sigma_{1}(u) \vee \sigma_{2}(u), & \text { if } & u \in V_{1} \cap V_{2}\end{array}\right.$
and

$$
\left(\mu_{1} \cup \mu_{2}\right)(u, v)=\left\{\begin{array}{cl}
\mu_{1}(u, v), & \text { if } \quad u v \in E_{1}-E_{2} \\
\mu_{2}(u, v), & \text { if } \quad u v \in E_{2}-E_{1} \\
\mu_{1}(u, v) \vee \mu_{2}(u, v), & \text { if } \quad u v \in E_{1} \cap E_{2}
\end{array}\right.
$$

Theorem 3.2. Let $G_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$ be two fuzzy graphs with underlying crisp graphs $G_{1}^{*}:\left(V_{1}, E_{1}\right)$ and $G_{2}^{*}:\left(\mathrm{V}_{2}, \mathrm{E}_{2}\right)$.

Then $\left(G_{1} \cup G_{2}\right):\left(\left(\sigma_{1} \cup \sigma_{2}\right),\left(\mu_{1} \cup \mu_{2}\right)\right)$ is a fuzzy graph.
Proof:
We shall prove the theorem in three cases.
Case 1: If uv $\in \mathrm{E}_{1}-\mathrm{E}_{2}$

$$
\begin{aligned}
&\left(\mu_{1} \cup \mu_{2}\right)(u, v) \quad=\mu_{1}(u v) \\
& \leq \sigma_{1}(u) \wedge \sigma_{1}(v) \\
& \leq {\left[\sigma_{1}(u) \vee \sigma_{2}(u)\right] \wedge\left[\sigma_{1}(v) \vee \sigma_{2}(v)\right] } \\
&=\left(\sigma_{1} \cup \sigma_{2}\right)(u) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(v) \\
& \therefore \quad\left(\mu_{1} \cup \mu_{2}\right)(u, v) \leq\left(\sigma_{1} \cup \sigma_{2}\right)(u) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(v)
\end{aligned}
$$

Case 2: If $u v \in E_{2}-\mathrm{E}_{1}$, we can prove as in case (1)
Case 3: If uv $\in \mathrm{E}_{1} \cap \mathrm{E}_{2}$
$\left(\mu_{1} \cup \mu_{2}\right)(u, v) \quad=\mu_{1}(u v) \vee \mu_{2}(u v)$
$\leq\left[\sigma_{1}(\mathrm{u}) \wedge \sigma_{1}(\mathrm{v})\right] \vee\left[\sigma_{2}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v})\right]$

$$
\leq\left[\sigma_{1}(\mathrm{u}) \vee \sigma_{2}(\mathrm{u})\right] \wedge\left[\sigma_{1}(\mathrm{v}) \vee \sigma_{2}(\mathrm{v})\right]
$$

$$
=\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
$$

$$
\therefore\left(\mu_{1} \cup \mu_{2}\right)(\mathrm{u}, \mathrm{v}) \quad \leq\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
$$

$\therefore$ From above three cases we conclude that the union of two fuzzy graphs is again a fuzzy graph.
The following example illustrate that the union of two fuzzy graphs.
Example: 3.3.


Figure 1: $\mathrm{G}_{1} \cup \mathrm{G}_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ fuzzy graph

## 4. Order of Union of Two Fuzzy Graphs

Definition: 4.1. Let $G_{1} \cup G_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ be the union of two fuzzy graphs $G_{1}\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$ then the order of $G_{1} \cup G_{2}$ denoted by $O\left(G_{1} \cup G_{2}\right)$ is given by

$$
\mathrm{O}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)=\sum_{u \in \mathrm{~V}_{1}-\mathrm{v}_{2}} \sigma_{1}(\mathrm{u})+\sum_{u \in \mathrm{~V}_{2}-\mathrm{v}_{1}} \sigma_{2}(\mathrm{u})+\sum_{u \in \mathrm{~V}_{1} \cap v_{2}} \sigma_{1}(\mathrm{u}) \vee \sigma_{2}(\mathrm{u})
$$

The following theorem gives the relation between the order of $G_{1}$, order of $G_{2}$ and order of $G_{1} \cup G_{2}$
Theorem 4.2. Let $\mathrm{G}_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $\mathrm{G}_{2}:\left(\sigma_{2}, \mu_{2}\right)$ be two fuzzy graphs. Then,
$\mathrm{O}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)=\mathrm{O}\left(\mathrm{G}_{1}\right)+\mathrm{O}\left(\mathrm{G}_{2}\right)-\sum_{\mathrm{u} \in \mathrm{V}_{1} \cap \mathrm{v}_{2}}\left[\sigma_{1}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v})\right]$
Proof:
Let

$$
\begin{aligned}
& \mathrm{V}_{1}=\left\{\mathrm{u}_{1}, \mathrm{u}_{2}, \ldots \ldots . \mathrm{u}_{\mathrm{m}}, \mathrm{x}_{1}, \mathrm{x}_{2}, \ldots \ldots \ldots . \mathrm{x}_{\mathrm{p}}\right\} \\
& \mathrm{V}_{2}=\left\{\mathrm{v}_{1}, \mathrm{v}_{2}, \ldots \ldots . \mathrm{v}_{\mathrm{n}}, \mathrm{x}_{1}, \mathrm{x}_{2}, \ldots \ldots \ldots . \mathrm{x}_{\mathrm{p}}\right\}
\end{aligned}
$$

Then the order of $G_{1}$ is
$\mathrm{O}\left(\mathrm{G}_{1}\right)=\sum_{\mathrm{i}=1}^{\mathrm{m}} \sigma_{1}\left(\mathrm{u}_{\mathrm{i}}\right)+\sum_{\mathrm{k}=1}^{\mathrm{P}} \sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right)$
and the order of $\mathrm{G}_{2}$ is
$\mathrm{O}\left(\mathrm{G}_{2}\right)=\sum_{\mathrm{j}=1}^{\mathrm{m}} \sigma_{2}\left(\mathrm{v}_{\mathrm{j}}\right)+\sum_{\mathrm{k}=1}^{\mathrm{P}} \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$
By the definition of union of two fuzzy graphs
If $x_{k} \in V_{1} \cap V_{2}$, then
$\left(\sigma_{1} \cup \sigma_{2}\right)\left(\mathrm{x}_{\mathrm{k}}\right)=\sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right) \vee \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right), \mathrm{k}=1,2 \ldots \mathrm{p}$
If $\mathrm{u}_{\mathrm{i}} \in \mathrm{V}_{1}-\mathrm{V}_{2}$, then
$\left(\sigma_{1} \cup \sigma_{2}\right)\left(u_{i}\right)=\sigma_{1}\left(u_{i}\right), i=1,2 \ldots m$
If $v_{j} \in V_{2}-V_{1}$, then

$$
\left(\sigma_{1} \cup \sigma_{2}\right)\left(u_{j}\right)=\sigma_{2}\left(u_{j}\right), j=1,2 \ldots n
$$

Now $\quad \mathrm{O}\left(\mathrm{G}_{1}\right)+\mathrm{O}\left(\mathrm{G}_{2}\right) \quad=\sum_{\mathrm{i}=1}^{\mathrm{m}} \sigma_{1}\left(\mathrm{u}_{\mathrm{i}}\right)+\sum_{\mathrm{j}=1}^{\mathrm{n}} \sigma_{2}\left(\mathrm{v}_{\mathrm{j}}\right)+\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right)+\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$
$=\sum_{\mathrm{i}=1}^{\mathrm{m}} \sigma_{1}\left(\mathrm{u}_{\mathrm{i}}\right)+\sum_{\mathrm{j}=1}^{\mathrm{n}} \sigma_{2}\left(\mathrm{u}_{\mathrm{j}}\right)+\sum_{\mathrm{k}=-1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right) \vee \sigma_{2}\left(\mathrm{X}_{\mathrm{k}}\right)$
$+\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right) \wedge \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$
$=\mathrm{O}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)+\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{X}_{\mathrm{k}}\right) \wedge \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$
$\mathrm{O}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right) \quad=\mathrm{O}\left(\mathrm{G}_{1}\right)+\mathrm{O}\left(\mathrm{G}_{2}\right)-\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{x}_{\mathrm{k}}\right) \wedge \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$
Hence the theorem.
The result $\mathrm{O}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)=\mathrm{O}\left(\mathrm{G}_{1}\right)+\mathrm{O}\left(\mathrm{G}_{2}\right)-\sum_{\mathrm{k}=1}^{\mathrm{p}} \sigma_{1}\left(\mathrm{X}_{\mathrm{k}}\right) \wedge \sigma_{2}\left(\mathrm{x}_{\mathrm{k}}\right)$ can be verified for the following example.

## 5. Size of Union of Two Fuzzy Graphs

Definition 5.1. Let $G_{1} \cup G_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ be the union of two fuzzy graphs $G_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$. Then its size denoted by $\mathrm{q}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)$ is given by
$\mathrm{q}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)=\sum_{u v \in \mathrm{E}_{1}-\mathrm{E}_{2}} 1(\mathrm{uv})+\sum_{u v \in \mathrm{E}_{2}-\mathrm{E}_{1}} 2_{2}(\mathrm{uv})+\sum_{u v \in \mathrm{E}_{1} \cap \mathrm{E}_{2}}{ }_{1}(\mathrm{uv}) v_{2}(u v)$
The following theorem gives the relation between the sizes of $G_{1}$ and $G_{2}$ and the size of $G_{1} \cup G_{2}$.
Theorem 5.2. Let $G_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$ be two fuzzy graphs. Then

$$
\mathrm{q}\left(\mathrm{G}_{1} \cup \mathrm{G}_{2}\right)=\mathrm{q}\left(\mathrm{G}_{1}\right)+\mathrm{q}\left(\mathrm{G}_{2}\right)--\sum_{\mathrm{uv} \in \mathrm{E}_{1} \cap \mathrm{E}_{2}} 1(\mathrm{uv}) \wedge{ }_{2}(\mathrm{uv})
$$

proof: similarly as above.

## 6. Degree of A Vertex in The Union of Two Fuzzy Graphs

The degree of any vertex in the union of two fuzzy graphs can be found by using following theorem
Theorem 6.1. For any vertex $v \in V_{1} \cup V_{2}$. Then

$$
\mathrm{d}_{\mathrm{G}_{\mathrm{G}} \cup \mathrm{G}_{2}}(\mathrm{u})=\left[\begin{array}{l}
d_{G_{1}}(u), \text { if } u \in V_{1}-V_{2} \\
d_{G_{2}}(u), \text { if } u \in V_{2}-V_{1} \\
d_{G_{1}}(u)+d_{G_{2}}(u), \text { if } u \in V_{1} \cap V_{2} \text { and the edges incident at } \mathrm{u} \text { does not lie in } \mathrm{E}_{1} \cap \mathrm{E}_{2} \\
d_{G_{1}}(u)+d_{G_{2}}(u)-\sum_{u v \in E_{1} \cap E_{2}} \mu_{1}(u v) \wedge \mu_{2}(u v), \text { if } u \in V_{1} \cup V_{2} \text { and the edges } \\
\text { incident at } \mathrm{u} \text { lies in } E_{1} \cap E_{2}
\end{array}\right.
$$

## Proof:

Any vertex in the union of two fuzzy graphs can be in any one of the following cases.
Case (1): If $u \in V_{1}-V_{2}$ and the edges $(u, v) \in E_{1}-E_{2}$

$$
d_{G_{1} \cup G_{2}}(u)=\sum_{\text {uv } \in \mathrm{E}_{1}-E_{2}}(\mathrm{uv})=d_{G_{1}}(u)
$$

Case (2): If $u \in V_{2}-V_{1}$ and the edges $(u, v) \in E_{2}-E_{1}$

$$
d_{G_{1} \cup G_{2}}(u)=\sum_{\mathrm{uv} \in \mathrm{E}_{2}-E_{1}} \quad 2(\mathrm{uv})=d_{G_{2}}(u)
$$

Case (3): If $u \in V_{1} \cap V_{2}$ and the edges ( $u, v$ ) lies either in $E_{1}$ or in $E_{2}$ but not in both.

$$
\begin{aligned}
& d_{G_{1} \cup G_{2}}(u)=\sum_{\mathrm{uv} \in \mathrm{E}_{1}} 1(\mathrm{uv})+\sum_{\mathrm{uv} \in \mathrm{E}_{2}}(\mathrm{uv}) \\
= & \mathrm{d}_{\mathrm{G}_{1}}(\mathrm{u})+\mathrm{d}_{\mathrm{G}_{2}}(\mathrm{u})
\end{aligned}
$$

$$
\begin{aligned}
& \text { Case 4: If } u \in V_{1} \cap V_{2} \text { and the edges } u v \in E_{1} \cup E_{2} \text { (some edges belongs to } E_{1} \cap E_{2} \text { ) } \\
& d_{G_{1} \cup G_{2}}(u)=\sum_{\mathrm{uv} \in \mathrm{E}}\left(\mathrm{~V}_{2} \cup{ }_{2}\right)(\mathrm{uv}) \\
& =\sum_{u v \in E_{1}-E_{2}} 1(\mathrm{uv})+\sum_{u v \in E_{2}-E_{1}} 2_{2}(\mathrm{uv})+\sum_{u v \in E_{1} \cap E_{2}}(\mathrm{uv}) v_{2}(\mathrm{uv}) \\
& =\sum_{u v \in E_{1}-E_{2}}(\mathrm{uv})+\sum_{u v \in E_{2}-E_{1}}{ }_{2}(\mathrm{uv})+\sum_{u v \in E_{1} \cap E_{2}}{ }_{1}(\mathrm{uv}) v_{2}(\mathrm{uv}) \\
& +\sum_{u v \in E_{1} \cap E_{2}}(\mathrm{uv}) \wedge_{2}(\mathrm{uv})-\sum_{u v \in E_{1} \cap E_{2}}(\mathrm{uv}) \wedge_{2}(\mathrm{uv}) \\
& =\sum_{u v \in E_{1}-E_{2}} 1_{1}(\mathrm{uv})+\sum_{u v \in E_{2}-E_{1}}{ }_{2}(\mathrm{uv})+\sum_{u v \in E_{1} \cap E_{2}} 1(\mathrm{uv}) \\
& +\sum_{u v \in E_{1} \cap E_{2}}{ }_{2}(\mathrm{uv})-\sum_{u v \in E_{1} \cap E_{2}}{ }_{1}(\mathrm{uv}) \wedge{ }_{2}(\mathrm{uv}) \\
& {\left[\text { Since } \sum \mu_{1}(u, v)+\sum \mu_{2}(u, v)=\sum \mu_{1}(u, v) v \mu_{2}(u, v)\right.} \\
& \left.+\sum \mu_{1}(u, v) \wedge \mu_{2}(u, v)\right] \\
& d_{G_{1} \cup G_{2}}(u)=\sum_{u v \in E_{1}}(\mathrm{uv})+\sum_{u v \in E_{2}}{ }_{2}(\mathrm{uv})-\sum_{u v \in E_{1} \cap E_{2}}(\mathrm{uv}) \wedge{ }_{2}(\mathrm{uv}) \\
& {\left[\because \sum_{u v \in E_{1}-E_{2}} 1_{1}(\mathrm{uv})+\sum_{u v \in E_{1} \cap E_{2}} 1_{1}(\mathrm{uv})=\sum_{u v \in E_{1}} 1_{1}(\mathrm{uv})\right]}
\end{aligned}
$$

$\therefore d_{G_{1} \cup G_{2}}(u)=d_{G_{1}}(u)+\mathrm{d}_{\mathrm{G}_{2}}(\mathrm{u})-\sum_{u v \in E_{1} \cap E_{2}}{ }_{1}(\mathrm{uv}) \wedge{ }_{2}($ uv $)$
Hence the theorem.
7. Strong and Complete Nature in the Union of Two Fuzzy Graphs

The union of two strong fuzzy graphs need not be a strong fuzzy graph. It is illustrated in the following example.
Example 7.1.

$\mathrm{G}_{1}:\left(\sigma_{1}, \mu_{1}\right)$ strong fuzzy graph


Figure 2. $\mathrm{G}_{1} \cup \mathrm{G}_{2}:(\sigma, \mu)$ not a strong fuzzy graph
The following theorem shows that the conditions that can be included to make $G_{1} \cup G_{2}$, a strong fuzzy graph.
Theorem 7.2. It $G_{1}:\left(\sigma_{1}, \mu_{1}\right)$ and $G_{2}:\left(\sigma_{2}, \mu_{2}\right)$ are two strong fuzzy graphs than $G_{1} \cup G_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ is again a strong fuzzy graph if

$$
\sigma_{1}(\mathrm{u}) \leq \sigma_{1}(\mathrm{v}) \text { and } \sigma_{2}(\mathrm{u}) \leq \sigma_{2}(\mathrm{v}) \forall \mathrm{u} \in \mathrm{~V}_{1} \cup \mathrm{~V}_{2} \text { and } \mathrm{v} \in \mathrm{~V}_{1} \cap \mathrm{~V}_{2} \text { and } \sigma_{1} \leq \mu_{2} .
$$

## Proof:

Since $\sigma_{1} \leq \mu_{2}$
$\sigma_{1} \leq \mu_{2} \leq \sigma_{2}$
$\Rightarrow \sigma_{1} \leq \sigma_{2}$
Since $\sigma_{1} \leq \mu_{2}$
$\mu_{1} \leq \sigma_{1} \leq \mu_{2}$
$\Rightarrow \mu_{1} \leq \mu_{2}$
Case (1): $\quad$ If $u v \in E_{1}, v \in V_{1} \cap V_{2}$ and $u \in V_{1}$ $\left(\mu_{1} \cup \mu_{2}\right)(\mathrm{u}, \mathrm{v}) \quad=\mu_{1}(\mathrm{u}, \mathrm{v})$
$=\sigma_{1}(\mathrm{u}) \wedge \sigma_{1}(\mathrm{v})$
$=\sigma_{1}(\mathrm{u})$
$\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})=\sigma_{1}(\mathrm{u}) \wedge\left[\sigma_{1}(\mathrm{v}) \vee \sigma_{2}(\mathrm{v})\right]$

$$
\begin{equation*}
\left[\therefore \sigma_{1} \cup \sigma_{2}(u)=\sigma_{1}(u) \text { if } u \in V_{1}\right] \tag{3}
\end{equation*}
$$

$=\left[\sigma_{1}(\mathrm{u}) \wedge \sigma_{1}(\mathrm{v})\right] \vee\left[\sigma_{1}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v})\right]$
$=\sigma_{1}(u) \vee\left[\sigma_{1}(u) \wedge \sigma_{2}(v)\right] \quad\left[\because \sigma_{1}(u) \leq \sigma_{1}(v)\right]$

$$
=\sigma_{1}(\mathrm{u})
$$

(4) $[\because a \vee(a \wedge b)=a]$

From (3) and (4)

$$
\left(\mu_{1} \cup \mu_{2}\right)(\mathrm{u}, \mathrm{v})=\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
$$

Case 2: If $u v \in E_{2}, v \in V_{1} \cap V_{2}$ and $u \in V_{2}$
$\left(\mu_{1} \cup \mu_{2}\right)(u, v)=\mu_{2}(u, v)$

$$
\begin{aligned}
& =\sigma_{2}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v}) \\
& =\sigma_{2}(\mathrm{u}) \\
& \text { 2) }(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
\end{aligned}
$$

$$
\left[\because \sigma_{2}(\mathrm{u}) \leq \sigma_{2}(\mathrm{v})\right]
$$

$\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})$
$=\sigma_{2}(\mathrm{u}) \wedge\left[\sigma_{1}(\mathrm{v}) \vee \sigma_{2}(\mathrm{v})\right]$

$$
\begin{aligned}
& =\left[\sigma_{2}(\mathrm{u}) \wedge \sigma_{1}(\mathrm{v})\right] \vee\left[\sigma_{2}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v})\right] \\
& =\left[\sigma_{2}(\mathrm{u}) \wedge \sigma_{1}(\mathrm{v})\right] \vee \sigma_{2}(\mathrm{u})
\end{aligned}
$$

$\left[\because \sigma_{2}(u) \leq \sigma_{2}(v)\right.$ if $\left.v \in V_{1} \cap V_{2}\right]$

$$
=\sigma_{2}(\mathrm{u})(6) \quad[\because(\mathrm{a} \wedge \mathrm{~b}) \vee \mathrm{a}=\mathrm{a}]
$$

From (5) and (6)

$$
\left(\mu_{1} \cup \mu_{2}\right)(\mathrm{u}, \mathrm{v})=\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
$$

Case 3: If $u v \in E_{1} \cap E_{2}$ and $u, v \in V_{1} \cap V_{2}$

$$
\begin{align*}
\left(\mu_{1} \cup \mu_{2}\right) & (u, v)=\mu_{1}(u, v) \vee \mu_{2}(u, v) \\
=\mu_{2}(u, v) & {\left[\because \mu_{1} \leq \mu_{2}\right] } \\
=\sigma_{2}(u) \wedge \sigma_{2}(v) & (7) \tag{7}
\end{align*}
$$

$$
\begin{aligned}
\left(\sigma_{1} \cup \sigma_{2}\right) & (\mathrm{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v}) \\
& =\left[\sigma_{1}(\mathrm{u}) \vee \sigma_{2}(\mathrm{v})\right] \wedge\left[\sigma_{1}(\mathrm{u}) \vee \sigma_{2}(\mathrm{v})\right] \\
& =\sigma_{2}(\mathrm{u}) \wedge \sigma_{2}(\mathrm{v}) \quad(8) \quad\left[\because \sigma_{1} \leq \sigma_{2}\right]
\end{aligned}
$$

From (7) and (8)

$$
\left(\mu_{1} \cup \mu_{2}\right)(\mathrm{u}, \mathrm{v})=\left(\sigma_{1} \cup \sigma_{2}\right)(\mathbf{u}) \wedge\left(\sigma_{1} \cup \sigma_{2}\right)(\mathrm{v})
$$

Hence the theorem
Remark 7.3. In general union of two complete fuzzy graph need not be a complete fuzzy graph it can be illustrated from the following example.

## 8. Regular Fuzzy Nature of the Union of Two Fuzzy Graphs

Union of two non regular fuzzy graphs can be a regular fuzzy graph. This can be illustrated from the following example.

## Example 8.1.



Figure 3. $\mathrm{G}_{1} \cup \mathrm{G}_{2}:\left(\sigma_{1} \cup \sigma_{2}, \mu_{1} \cup \mu_{2}\right)$ regular fuzzy graph.
Union two regular fuzzy graph can be a non regular fuzzy graph. This result is illustrated with an example as follows.

## 10. Conclusion

In this paper, we have obtained the relation between the order and size of a fuzzy graph with union of two fuzzy graphs. We find the degree of a vertex in the union of two fuzzy graphs. We have given one example for union of two complete fuzzy graph need not be a complete fuzzy graph. We have proved a theorem that the condition for the union of two strong fuzzy graphs is again a strong fuzzy graph. Also we have proved that the necessary and the sufficient condition for the union of two regular fuzzy graph to be a regular fuzzy graph.

## References

1. P.Bhattacharya, Some remarks on fuzzy graphs, Pattern Recognition Letter, 6 (1987) 297-302.
2. J.N.Modeson and P.S.Nair, Fuzzy Graphs and Fuzzy Hypergraphs, Physica-verlag Heidelberg, 2000.
3. J.N.Mordeson and C.S.Peng, Operations on fuzzy graphs, Information Sciences, 79 (1994) 159-170.
4. A.Nagoorgani and K.Radha, Conjunction of two fuzzy graphs, International Review of Fuzzy Mathematics, 3(2008) 95-105
5. A.Nagoorgani and K.Radha, Regular property of fuzzy graphs, Bulletin of Pure and Applied Sciences, 27E (2) (2008) 411-419.
6. K.Radha and S.Arumugam, On direct sum of two fuzzy graphs, International Journal of Scientific and Research Publications, 3(5) (2013) 430-439.
7. K.Radha and S.Arumugam, Path matrices of fuzzy graphs, proceedings of the International conference on mathematical methods and computation, Jamal Academic Research Journal, (special issue) (2014), 142-148.
8. K.Radha and S.Arumugam, On strong product of two fuzzy graphs, International Journal of Scientific and Research Publications 4(10) (2014) 275-280.
